

۱	$\alpha = \omega_m - \omega_h $ $\begin{array}{r} \omega \\ \times \omega \\ \hline \omega^2 \\ + 2\omega\omega \\ + \omega^2 \\ \hline 2\omega^2 \end{array}$ $30 \times 3 = 90$ $292 - 90 = 202$
۲	$\begin{array}{r} \omega \\ \times \omega \\ \hline \omega^2 \\ + 2\omega\omega \\ + \omega^2 \\ \hline 2\omega^2 \end{array}$ $48 \times 4 = 192$ $98 - 180 = 18$
۳	$\frac{\pi}{4} \times 9 = \frac{\pi}{12} \times 9 = \frac{9\pi}{12}$
۴	$\frac{\pi}{2} + 9 = \frac{12\pi}{3}$ $\frac{1}{2} \times \omega \times \pi \times \frac{\sqrt{2}}{2} = 10\sqrt{2}$
۵	$CB = \sqrt{\omega^2 + \pi^2 - 2 \times \frac{1}{2} \times \pi \times \omega} = \sqrt{49} = 7$ $V + \omega + \pi = 20$ $\frac{1}{2} \times \omega = \frac{10\sqrt{2}}{2} = 5\sqrt{2}$ $\sin B = \frac{10\sqrt{2}}{2} = \frac{\sqrt{2}}{2}$ $B = \frac{\pi}{4}$ $C = 10 \rightarrow \frac{7\pi}{12}$ $\frac{7\pi}{12} + \frac{3\pi}{12} = \frac{10\pi}{12} \rightarrow \frac{5\pi}{6}$

$$\frac{-\tan \alpha + r \tan \alpha}{-\tan \alpha - \tan \alpha} = \frac{\tan \alpha}{-r \tan \alpha} = -\frac{1}{r}$$

6

$$a = \tan 1\alpha^\circ$$

$$\frac{r \tan 4\alpha^\circ + \tan 1\alpha^\circ}{r \tan 4\alpha^\circ - \tan 1\alpha^\circ}$$

$$\rightarrow \frac{r \times \frac{1}{a} - \frac{1}{a}}{r(-a) - \frac{1}{a}} = \frac{\frac{1}{a}}{-(ra + \frac{1}{a})} = -\frac{1}{ra^2 + 1}$$

7

$$\frac{\sin x + \cos x}{\sin x - \cos x} + \frac{\sin x - \cos x}{\sin x + \cos x}$$

$$\rightarrow \frac{r}{\sin^2 x - \cos^2 x} = \frac{r}{-(\cos^2 x)} = -\frac{r}{\cos^2 x}$$

$$(\sin + \cos)^2 + (\sin - \cos)^2 = r$$

8

$$\tan^2 x = \frac{1 - \cos^2 x}{1 + \cos^2 x}$$

$$\frac{\sin^2 x - r \cos^2 x + 1}{\sin^2 x + r \cos^2 x - 1} = z$$

$$\frac{r t - r + 1}{r - 1} = z$$

$$r t - r + 1 = z r - z \Rightarrow r t = z r - z$$

$$\tan^2 x = \frac{z(r-1)}{r}$$

9

$$\cos 4\alpha^\circ = \cos \frac{80^\circ}{r} = \sqrt{\frac{1 + \cos 80^\circ}{r}} = \sqrt{\frac{1 + \frac{\sqrt{r}}{r}}{r}} = \sqrt{\frac{r + \sqrt{r}}{r}}$$

$$\sin 4\alpha^\circ = \sqrt{\frac{r - \sqrt{r}}{r}}$$

10